
Powierzchnia 

przekroju

Powierzchnia 

średnia

Nasyp (m2) Nasyp (m2)

1 2 3 4 5 6

0 0,00 0,000

0,185 6,16 1,14

0 6,16 0,370

0,280 10,19 2,85

0 16,35 0,190

0,180 17,65 3,18

0 34,00 0,170

0,140 8,66 1,21

0 42,66 0,110

0,125 23,57 2,95

0 66,23 0,140

0,190 9,67 1,84

0 75,90 0,240

0,170 7,99 1,36

0 83,89 0,100

0,060 7,47 0,45

0 91,36 0,020

14,97Suma objętości wrównania

załącznik nr 2

od km 0+000,00 do km 0+091,36

ISTNIEJĄCEJ NAWIERZCHNI TŁUCZNIOWEJ 
TABELA OBJĘTOŚCI WYRÓWNANIA

MASĄ ASFALTOWĄ

Odległość 

między 

przekrojami (mb)

HmKm

Objętość 

wyrównania 

(m3)


